Precalculus Name ID: 1

Solving Trig Equations Review Problems Date Period

)Solve each equation for 0 < 6 <2m.

1) 2sec? @ =4 +sec? 0 2) 1=2cos* 68

3) —2cos O = —\/gcos Bcsc & 4) 3tan fcot & —tan @ = \/gtan @ — tan @
5) —1 =2tan @ + tan” 6) —2sin® 6 +2 =3sin 6 + 3

7) 0 =—sin @ +sin? @ — cos* 8 8). 0 =3csc @ +3 +cot?

9) csc?@—-1=0 10) cos @ —1=sin -2

11) 8 =cos26 + 10cos? 12) sin 26 =—cos 8 + 2sin 26

13) —6sin® 8 = cos 20 — 4 14) 10 =cos 26 + 14sin?

15) —2 +2c0s? @ =—cos 26 16) 3sin 28 =2cos 6 + 2sin 26



ositive: sin, csc ositive: sin, cos, tan, sec, csc, cot
Negative: cos, tan, sec, cot Negative: none
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